s Chapter 3 o

SQUARE ROQTS

Wwhen we SQUARE a number, we raise it to the power of Z.

EXANMPLE: 3% (Reod alovd as *three squared.)
3= 3x3=9

The opposite of squaring a number is fo take a number's
SQUARE ROOT. The square root of a number is indicated
by putting it inside a RAPICAL SIGN, or V.

EXAMPLE: V16 (Read alovd as "square root of 16)
V1b=v4x4 =4 and Vib=V-4x-4 =4

\When simplifying o square roof, ask yourself,
"“\“Whot number times itself Equnls the number
inside the radical sigﬁ?"
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Perfect Squares I'M PERFICT!
Vib is also o PERFECT SQUARE, whichis  {1c |
a number that is the square of an integer.

When you find the square root of a perfect square, it is a
positive or negafive whole number—in this case #4 The +
means "positive or negative’ (4 « 4 =10 and -4 « -4 =10)
EXANPLE: 4 isa perfect square.

V4=22 (2+2=40nd-2+-2=4)

EXANPLE: 1is a perfect square.

V1=11 (1e1=1ond -1+ -1=1)

1.
EXAMPLE: 7 is o perfect square

T ,1(1.1.1 1,.1.1
w/:=iE (E'E'E“"’d 72°°1 4)

If a number under the radical sign is NOT a perfect square,

it is an irrational number. HO ARE
YOU CALLING
IRRATIONAL?

EXAMPLE: V| isirrafional. o

EXAMPLE: V10 is irrotional. ﬁ



CUBE ROQOTS

Wwhen we CUBE a number, we raise it to the power of 3.

EXAMPLE: 7°(Read aloud as "two cubed.)
2°=72x21x2=8

The opposite of cubing a number is To Take a number's
CUBE ROOT. The cube root of a number is indimged by
putting it inside a radical sign with a 5 on top, or V.

3
EAANPLE: 'v’g= L (Read aloud as “cube root of 8
which equals ZXZ XZ)

3
EXAMPLE: VZ1=3  (Reod alovd os “cube root of 21
which equals 3 X 3 X 3)
:
(Read alovd as "cube mﬂ;r of 176"

- 1.1
which ﬂq_unlz 5 X 5 X g.}
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EXAMPLE: :

When simplifuing a cube root, ask Yoursels,
“What number fo the third power equals the
number under the radical sign?"

Perfect Cubes
Numbers like 8 and Z1 are sometimes referred +o as
PERFECT CUBES. Perfect cubes can also be negative

numbers.
™



EXANPLE: ;'J’-_Ei =-7  (Read aloud as "cube root of

negative 8 which equals
-2 x-1x-2)

A 3
EXAMPLE: V-1=- (Read alovd as "cube root of
negative | which equals
-1x-1x-1)

3
EXANPLE: -% = —% (Read aloud as "cube root of
negcfriw i " which e,q_unls
21
yi yi L
"? X "3 X “g.}
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PERFECTCUBE
1

List the cube root of eoch of the following numbers.

9. 27 5. 12 g 9
] | > B 125 ]
3. b4 6. 0
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